HEIRASAETE MABER

(k2 744 AFIA~)

BTRFIBE BT SV R A&
1. AR AR 1. fEAF AR
(N - [) (Hp7 . [)
i 3 — & ERAE /R H " i o — & FRAE /R H "
27 J—F 300 150 100 27 J—F 450 220 150
L —=V = 2 [RFfH 300 150 — N —= 75 2 W] 450 220 -
ZihY Zo& 200 100 100 SiEY lZo& 300 150 150
F—=LT ) —F 400 300 200 100 =7V —F 600 450 300 150
2. BHFIHEM 2. BHFIHEM
(WAL 1,7 1 RERD) (WAL 1,7 1 FERD)
(1) A>T VU—F (1) AL TU—F
1 3 ERT WD R LIFET | PR LB FREIFET | TR FHR 1 ORFET kil g RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET
IGEZZAVN T T ‘v H 2,025 2,700 3, 450 IGEZR AN T ‘- H 3,030 4, 050 5, 170
BOR L 72 + - H - fH 2, 400 3, 225 4,125 WU U722 DA +-H-%H 3, 600 4, 830 6, 180
LGRS AN T - H 11, 250 15, 000 19, 500 FEERAN T ¥ H 16, 870 22, 500 29, 250
[EOERAY +-H-%H 13, 500 18, 000 23, 400 EUNERSY e +-H-%H 20, 250 27, 000 35, 100
Z DAt B A SEH 26, 250 34, 500 45, 000 ZOftho BEIZ SEH 39, 370 51, 750 67, 500
AT 256 +-H-%H 31, 500 41, 400 54, 000 FIET 354 +-H-%H 47, 250 62, 100 81, 000
(2) ¥77 V) —F (2) ¥77 0 —F
1 3 ERT OISR LIFET | TR LB FREIFET | TR FHR 1 ORFET kil g RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET
FIFHE D AR % ‘v H 750 975 1,275 RIS AR % ‘v H 1,120 1, 460 1,910
PO L7\ + - H - fH 900 1, 150 1,525 NP Y e +-H-%H 1, 350 1,720 2, 280
LGRS AN T SEH 3,975 5, 250 6, 900 LGRS AN T EH 5, 960 7,870 10, 350
(R e +-H-%H 4, 750 6, 300 8,275 (R e +-H-%H 7,120 9, 450 12,410
Do Bz EH 9, 750 12, 750 16, 500 ZOftho BEIZ SEH 14, 620 19, 120 24, 750
R4+ 584 + - H - #H 11, 700 15, 300 19, 800 FHT 28584 +-H -%H 17, 550 22, 950 29, 700
(3) #EY (3) #EY
1 3 RTINS R LIFET | TR LB FREIFET | RO R ORFET kil g RTINS R LIFET | TR LB PR IFET | RO R ORFET
FIFHE D AR % ‘v H 500 750 1, 000 R D AR % ‘v H 750 1,120 1, 500
PO L 72 + - H - fH 600 900 1, 200 NP AR e +-H-%H 900 1, 350 1, 800
LGRS AN T S H 2, 650 4,000 5, 400 FEERAN T EH 3,970 6, 000 8, 100
(R e +-H-%H 3, 200 4, 900 6, 650 (R e +-H-%H 4, 800 7, 350 9,970
Do Bz EH 6, 500 9, 750 13, 000 ZDftho BEIZ S H 9, 750 14, 620 19, 500
R4+ 584 + - H - #H 7,800 11,700 15, 600 FHT 28584 +-H-%H 11, 700 17, 550 23, 400
(4) =ES (4) =EH
1 3 RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET kil g RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET
GIGEZZ AN T S H 325 525 650 R D AR % ¥ H 480 780 970
B LW ES +-H-%H 400 625 775 B L2V ES +-H-%H 600 930 1, 160
FEERAN T S H 1,725 2,825 3, 500 FEERAN T EH 2, 580 4,230 5, 250
(R e +-H-%H 2,125 3, 375 4,175 (R e +-H-%H 3, 180 5, 060 6, 260
Do Bz EH 4, 225 6, 825 8, 450 ZDftho BEIZ SEH 6, 330 10, 230 12, 670
R4 584 + - H - #H 5, 200 8, 125 10, 075 FHT 28584 +-H-%H 7,800 12, 180 15, 110
(5) Bk (5) Bk
1 3 RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET kil g RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET
FEERAN T S H 1,325 2, 000 2,700 FIAZE D Gk % EH 1,980 3, 000 4, 050
[EOERAY +-H-%H 1, 600 2, 450 3, 250 (R e +-H-%H 2,400 3,670 4,870
Do BIZ - H 3, 250 4, 875 6, 500 ZFOMo B ¥ H 4, 870 7,310 9, 750
AT 255 +-H-%H 3, 900 5, 850 7, 800 AT 255 + - H - ®H 5, 850 8, 770 11, 700
SRRk AR 500 500 500 DAL RERR I B4 R 750 750 750
(6) mEk= (6) =Ek=
1 3 ERT OISR LIFET | TR LB FREIFET | TR FHR 1 ORFET il g RTINS R LIFET | TR LB FREIFET | TR FHR 1 ORFET
AR = BHRE R OV 2t SEH 250 375 500 AR — BHRE R OVt - H 370 560 750
FEERHTT 256 + - H-8H 300 450 600 HESENFIHT 255 +-H-%H 450 670 900
— R DA S H 1,325 2,025 2, 700 —HE DR RN ¥ H 1, 980 3, 030 4, 050
R4+ 584 + - H - #H 1, 600 2,425 3,225 FHT 28584 +-H-%H 2,400 3, 630 4, 830
HRZBRE LT S H 3, 250 4, 875 6, 500 HRZBRE LT ¥ H 4, 870 7,310 9, 750
HERSFIET 2856 +-H-%H 3, 900 5, 850 7, 800 MERSFIET 2856 +-H-%H 5, 850 8, 770 11, 700
3. T 3. T
(N - [) (Hp7 . [)
KEE =7V —F %k, ) KERE (=T ) —F %K<, )
oy —EH 50 (1 [=]) oy —EH 50 (1[q])
vy U—k4& 100 (3%y) vy U—k4& 100 (3%y)




